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 P�Q ^<^ Z DFE L M+G1D  K D U M+V�M+G�A1M  T"Q+R D U D�I  Z D�V�M8C�X<G1D�I  ^+A1^8EFM Z H  ( Q EFD Z  U  V U _.-"_ L D U G1M U D Z  K�L A T C�A�� M+G�A�A ) K�L A  UFR8Q A Z D�V�M+I1^8E U A�A  ^  ��A L D�N"D K DFC�D"^+G1H Z  

A�C�A
 
N U�Q+R A Z D�G1D -- L D Z�Q E<A�]�M<^+N"A Z  

^ U M+EFD U H Z  K DFC�M Z . 
@ D��"^<G/�"M8EF^��

, 
N Q N  G1M8C�A1G1M+I�G1D"^8EFX  U D R V�M+I1^8E U A/�  K DFC.�  G Q  Q EFD Z  K�L A U D�V�A�E  N  ]�M+E<H L M�- U DFC�G1D U D Z _  ^ Z M��'M+G�A�	 , 

A
 
G Q  K�L A Z M L M  K C Q G Q8L G1D�I  Y+M<D Z M8E L A�A  (

EFD�G1N�A�I
 
^8C�D�I

) K�L D"^8C�M��JA U�Q 	eEF^��  K�L�Q+U A�C Q  ^8C�D0� M+G1A/�  U DFC�G1D U H*-  U M+NFEFD L D U . 1 M Z D�G1^8E L A L _�M8EF^�� , N Q N  K�L A  _�]�M+EFM  G1M<D�V�G1D L D�V�G1D�Y+D  _.�'A L M+G�A/�  U  Q E�D Z G1D Z  Q G1^ Q+Z T C�M  [ D L�Z A L _�M8EF^��  R8Q V�M L � Q G�G�H I  D�E<NFC�A�N  - 
[ D�EFD�G�G1D"M

 2 -�D . 3 K A1^+H U�Q M8EF^��  A�G�EFM L�K�L M8E Q+W A/�   � U C�M+G�A/�  [ DFEFD�G�G1D�Y+D  2 -�D  U  Y+M<D Z M8E L A�]�M<^+N"D�I  N Q8L E<A�G1M  K D U D L D�EFD U  U M+N�EFD L�Q  4 C�D0- Q . 3 T ^8_/�JV Q M8EF^��  U D R Z D0�JG1D"^+E<X  ( Q  E Q N0� M   A  D�Y L�Q G1A�]�M+G�A/� ) K�L A Z M+G1M+G�A/�  K�L D"^8E<H*-  Z D�V�M8C�M+I  G1M8C�A�G1M+I�G�D�Y+D  UFR8Q A Z D�V�M+I1^8E U A/� , _�^+E Q G1D U C�M+G�G�H*-  V"C.�  Q EFD Z D U , N  U D R+T _.�JV�M+G�A/� Z  U  K DFC�_ K�L D U D�V�G1A1N"M .  @ D"^<D T A1M  K�L M+V�G Q+R G Q ]�M+G1D  V"C.�  ^8E<_"V�M+G�EFD U  5-7-
Y+D

 
N�_ L ^<D U , Q ^ K A L�Q G�EFD U , ^<D�A1^+N Q EFM8C�M+I  A  V L _"Y8A�-  D T _�] Q 	�5�A�-�^�� , _�] Q ^+E U _.	�5�A�-  U  _�]�M T G1D - G Q _�]�G�D�I  L�QFT DFEFM  6 `J@  

«
@ L A�NFC Q V�G Q �  G Q G1D [ DFEFD�G1A�N Q ». 

 
 
 
 
 
 
 
 
 
 
 
 

© 7 .8 .9;:=<�>�?A@CB�D  ,   2007 
 



  

 
1. 
% /1)8;�) . 3�)  ��M L�Z A�G  «

N"D�Y+M L M+G�E<G Q �  D K EFA�]�M<^+N Q �  V�A�G Q+Z A�N Q » 
- Q8L�Q N�EFM L A R _�M+E  K�L D W M<^<^+H , K�L D�A1^�-�D�V.�05�A1M  K�L A  UFR8Q A Z D�V�M+I1^8E U A�A  ^ U M8E Q  ^  Z�Q EFM L A Q C�X<G1D�I  ^ L M+V�D�I  R8Q  DF]�M+G�X  N"D L DFEFN�A1M  K�L D Z M��J_"E<N�A  U<L M Z M+G�A , UFK C1DFEFX  V�D  M8V�A�G�A W  K A�N"D"^<M+N�_"G�V  (1ps = 10-12 s). � Q C�D"^8E<X  2 E�D�Y+D  K�L D Z M��J_"E<N Q  Z D0� G1D  D W M+G1A�E<X , M<^8C�A  _�]�M<^+E<X , ]"E�D  2 C�M+NFE L D Z�Q Y8G�A�EFG1D"M  A R C�_�]�M+G�A1M  ^  V"C�A�G1D�I  U D�C�G�H  1 µm 

^<D U M L � Q M8E  R8Q  1ps U ^<M+Y+D  D�N"DFC�D  300 
N"DFC�M T"Q G�A�I . ��M+G�V�M+G W A/�  N  A R _�]�M+G1A/	  

A
 
A1^ K DFC�X R D U�Q G�A�	  U ^<M  T DFC�M<M  A  T DFC�M<M  T HJ^8E L H�-  K�L D W M<^<^<D U  � U C.�"M8EF^��  D�V�G�A Z  

A R  D"^+G1D U G�H*-  G Q+K�L�Q<U C�M+G�A1I  L�Q+R U A�E<A/�  G Q _"N"A  A  EFM�-�G�A�N�A . � Q N  � M  N Q N  EFM+G�V�M+G W A/�  N  _ Z M+G1XA�'M+G�A/	  K�L D"^8E L�Q G1^8E U M+G�G1H*-  L�Q+R Z M L D U  A R _�] Q M Z H*-  ^+A1^+EFM Z  UFK C�D�E<X  V�D  Q EFD Z G�H*- , D�G Q  ^+E<A Z _�C�A L _�M+EF^�� , U  ] Q ^8E<G�D"^8E<A , K D�E L M T G1D"^8E�� Z A  D T 5'M<^8E U�Q  U  _�^+N�D L M+G�A�A  L�QFT DFE<H  
^+A1^8EFM Z  K M L M+V Q ]�A  A  D TFL�QFT DFE<N�A  A�G [ D L�Z�Q+W A�A . 

� D R Z D0� G1D"^8EFX  G QFT C/	eV�M+G�A/�  A  A R _�]�M+G1A��  K�L D W M<^<^<D U , A�V"_.5�A�-  R8Q  ^+EFDFC�X  N"D L DFEFN�A1M  U<L M Z M+G Q , D T _�^8C�D U C�M+G Q  K D�� U C�M+G�A1M Z  
^ U M L - T HJ^8E L D�I  A R Z M L A�EFM8C�X<G1D�I  EFM�-"G�A�N"A

 
A
 
^<D R V Q G�A1M Z  

A1^+N�_�^<^+E U M+G�G1H*-  Z�Q EFM L A Q C�D U , U  N"DFE�D L H*-  D K EFA�]�M<^+N�A1M  K�L D W M<^<^+H  
A�V"_"E

 
^
 
E Q N"D�I  ^+N"D L D"^8EFX�	 . 

`
 
E Q N�A Z  Z�Q EFM L A Q C Q+Z  

DFE<G1D"^��FEF^��
, U  K M L�U _.	  DF]�M L M+V�X , ^<D U M L �'M+G�G�HJM  K DFC�_ K�L D U D�V�G�A1N"D U HJM  Y+M+EFM L D"^8E L _�NFE<_ L H , 
^<D R V Q+U�Q M Z HJM  Z M8EFD�V�D Z  Z DFC�M+NF_"C.� L G1D�I  K _"]�N"D U D�I  2+K A�E Q N"^+A�A . ` Q N  T _"V�M8E  K D"N Q+R8Q G1D  G�A�� M , K�L D W M<^<^+H  L M R D�G Q G1^+G1D�Y+D  UFR8Q A Z D�V�M+I1^8E U A��  ^<D  ^ U M8EFD Z  U  E Q N"A�-  ^8E L _�NFE<_ L�Q -  Z D�Y8_"E  K�L D�A1^�-�D�V�A�EFX  R8Q  UFL M Z M+G Q , G1M  K�L M U H*� Q 	�5�A1M  M+V�A�G�A W  K A�N"D"^<M+N�_�G�V . � Q8L�Q NFEFM L G1D"I  D"^<D T M+G�G1D"^8E<XA	  L M R D�G Q G1^+G1D�Y+D  UFR8Q A Z D�V�M+I1^8E U A/�  � U C.�"M+EF^��  ^8_.5'M<^8E U M+G�G Q �  L DFC�X  N"D�Y+M L M+G�E<G1D"^+E<A , E . M . ^<D�- L�Q G1M+G�A/�  [ Q+R D U H*-  ^<D"DFE<G1D0�'M+G�A1I  Z M��JV�_  N"DFC�M T"Q G�A/� Z A  K DFC.�  ^ U M8EFD U D�I  U DFC�G�H  

A
 U D R+T _.�JV�M+G�G1H Z A  ^<D�^8EFD���G�A/� Z A  K DFC�_ K�L D U D�V�G�A�N Q . 1 A�G Q+Z A�N Q  E Q N�A�-  K�L D W M<^<^<D U  L�Q V�A�N Q C�X<G1D  D�E+C�A�] Q M8EF^��  DFE  V�A1G Q+Z A�N�A  ^8E Q G�V Q8L EFG�H*-  K�L D W M<^<^<D U  K D�Y C�D05'M+G�A/�  A  A R C�_�]�M+G1A/�  ^ U M8E Q . �"Q V Q ] Q  G Q ^8EFD��05'M+Y+D  K D"^<D T A/�  – 

V Q E<X  D T 5'M<M  K�L M+V�^8E Q+U C�M+G�A1M  D  [ A R A�N"M  K�L D W M<^<^<D U  N�D�Y+M L M+G�E<G1D�Y+D  UFR8Q A Z D�V�M+I1^8E U A/�  ^ U M+E Q  ^  U M�5'M<^8E U D Z  
A
 
D
 K�L A�G W A K A Q C�XFG�H*-  D"^<D T M+G�G1D"^8E��0-  2 E<A�-  K�L D W M<^<^<D U  U  N U�Q G�EFD U D -L�Q+R Z M L G�H*-  K DFC�_ K�L D U D�V�G�A1N"D U H*-  Y+M8EFM L D"^8E L _�NFE<_ L�Q - . 

 
2. 
��� ,"3�=�) : *�3��  

&1)+6+( . 0 .�:  /  ;�/ ?	�F? &�(�/ . )</�(
�  : 3 : ,")<>J)  [1,2]. 

P�Q ^<^ Z DFE L M+G�A1M  N"D�Y+M L M<G�E<G1D�Y<D  UFR8Q A Z D�V�M+I�^8E U A/�  ^ U M+E Q  A  U M�5'M<^8E U�Q  K�L D05'M  U ^<M+Y+D  G Q ] Q E<X  ^  A R DFC�A L D U�Q G�G1D�I  V U _.-�_ L D U G1M U D�I  ^+A1^8EFM Z H , 
E
.
M
. 
^
 
N U�Q G�EFD U D -Z M�- Q G�A�]�M<^+N"D�I  ^+A1^8EFM Z H , 

A Z M�	�5'M+I  EFD�C�X<N"D  V U�Q  2 G1M L Y+M8EFA�]�M<^+N�A�-  ^<D"^+EFD���G�A/� : D"^+G1D U G1D"M  A  U D R+T _/�JV�M+G�G1D"M . P DFC�X  E Q N"D�I  ^<A1^8EFM Z H  Z D0� M8E , U  K M L�U D Z  K�L A T C�A�� M+G�A1A , A�Y L�Q E<X  A R DFC�A L D U�Q G�G�H I  Q EFD Z , 
D�V�G1D

 
A R  U D R+T _/�JV�M+G�G�H*-  ^<D"^8E�D���G�A�I  N"D�EFD L D�Y<D  G Q -�D�V�A�EF^��  U  L M R D�G Q G1^<M  ^  2 C�M<NFE L D Z�Q Y8G�A�EFG�H Z  

A R C�_�]�M+G1A1M Z . 
 ^8C�D U A1M Z  L M R D�G Q G1^ Q  � U C.�"M8EF^��  L�Q+U M+G1^+E U D  L�Q+R G1D"^8EFA  2 G1M L Y8A�I  U D R+T _.�JV�M+G�G1D�Y+D  A  D"^+G1D U G1D�Y+D  ^<D"^+EFD���G�A�I  Q EFD Z�Q  A  2 G1M L Y8A1A  N U�Q G�E Q  A R C�_�]�M+G�A/� . 
 D"^8EFD���G�A1M
 Q EFD Z�Q  - Q8L�Q NFEFM L A R _�M+EF^��  G Q ^<M8C�M+G�G1D"^8E�� Z A  D"^+G1D U G1D�Y+D  (n1) 

A
 U D R+T _/�JV�M+G�G1D�Y+D  (n2) 

_ L D U G1M+I , K�L A�]�M Z : n1 + n2 = 
1. 
 E Q E<A1^8EFA�]�M<^+N"D"M  D K A1^ Q G1A1M  UFR8Q A Z D�V�M+I1^8E U A/�  ^<D  ^ U M8EFD Z  

^ U D�V�A�EF^��  N  EFD Z _ , ]"E�D  Q EFD Z , 
G Q  N"DFEFD L H I  K1Q V Q M8E  K _"]�D�N  [ DFEFD"G1D U , Z D0� M8E  ^  U M L D��FE<G1D"^+E<XA	  B12 K D�Y C�D�E<A�EFX  [ DFEFD�G
 
A
 K M L M+I�E<A  U  U D R+T _.�JV�M+G�G�D"M  ^<D"^8E�D���G�A1M , Q  R8Q EFM Z , 

^ K D�G�E Q G�G1D  A1^ K _�^+E<A U  N U�Q G�E  ^ U M8E Q , U M L G�_"EFXF^��  U  D"^+G1D U G1D"M  ^FD"^8EFD���G�A�M  ^<D  ^+N"D L D"^+E<XA	  A21. � D R Z D0� M+G  E Q N.� M  



  

^8E<A Z _�C�A L D U�Q G�G�HJI  ^ U M+EFD Z  K M L M�-�D�V  U  D"^+G�D U G1D"M  ^<D"^+EFD���G�A1M  ^  U M L D���E<G1D"^8EFXA	  B21 (B12 

= B21). 1 A�G Q+Z A�N Q  G Q ^<M8C�M+G�G1D"^8E<A  U D R+T _.� V�M+G�G1D�Y+D  ^<D"^8EFD���G�A/�  D K A1^+H U�Q M8EF^��  U  2 EFD Z  ^8C"_�] Q M  _ L�Q<U G1M+G�A1M Z  T"Q C Q G1^ Q , U A�V Q : 
 

PnBPnBnA
dt

dn
)1( 212221221

2 −+−−=  

 Y8V�M
 P – 

D K EFA�]�M<^+N Q �  G Q N Q ]�N Q , E . M . ]�A1^8C�D  [ DFEFD�G1D U , K1Q V Q 	�5�A�-  G Q  Q EFD Z  U  M+V�A�G�A W _  U<L M Z M+G�A . 
 E Q+W A�D�G Q8L G1D"M  (E . M . V"C.�  dn2/dt = 0 ) L M��'M+G�A1M  E Q N"D�Y+D  _ L�Q+U G1M+G1A/�  A Z M<M8E  U A�V : 
PBA

PB
n

1221

12
20 2+

=  

 � M8E L _"V�G1D  R8Q+Z M8E<A�EFX , ]"EFD  K�L A  ^8C QFT H�-  G Q N Q ]�N Q -  E . M . N"D�Y8V Q  B12P<< A21, G Q ^<M8C�M+G�G1D"^8E<X  U D R+T _.�JV�M+G�G�D�Y+D  ^<D"^8EFD���G1A/�  � U C.�"M8EF^��  C�A�G1M+I�G�D�I  [ _"G�N W A1M+I  G Q N Q ]�N�A : 
n20 = B12*P/A21, Q  K�L A  D�]�M+G�X  T DFC�XA��A�-  G Q N Q ]�N Q -  – 

G Q ^+H*5 Q M8EF^��  V�D  R G Q ]�M+G�A/�  n20 = 
1/2 [

^ Z . K _"G�N�E<A L G�_.	  
N L A U _.	  

G Q  L A1^ . 1(b)]. 1 A�G Q+Z A�N Q  G Q ^<M8C�M+G�G1D"^+E<A  K�L A  ^8C QFT H*-  G Q N Q ]�N Q -  - Q8L�Q N�EFM L A R _�M+EF^��  2 N"^ K D�G1M+G W A Q C�X<G�H Z  
G Q8L�Q ^8E Q G1A1M Z  K D"^8C�M  U NFC/	 ]�M+G1A/�  G Q N Q ]�N�A : V�D  ^8E Q+W A1D�G Q+L G1D�Y+D  _ L D U G/�  n20:  

 

)1()( 21
202

tAentn −−=  
 

[ K _"G�N�E<A L G Q �  N L A U�Q �  G Q  L A1^ . 1(a)], 
A
 2 N"^ K D�G1M+G W A Q C�X<G�H Z  R8Q E<_.- Q G�A1M Z  K D"^8C�M  M<M  U H NFC/	 ]�M+G�A/� : 

tAentn 21
202 )( −= . 
 � Z M+G�G�D  E Q N�A1M  R8Q N"D"G1D Z M L G1D"^+E<A  G QFT C.	eV Q 	 EF^��  U  N"A�G1M8EFA�N"M  C.	 Z A1G1M<^ W M+G W A�A  Q EFD Z D U  A  V L _"Y8A�-  N U�Q+R A - V U _.-"_ L D U G1M U H*-  ^<A1^8EFM Z . ��^8C�A

 
� M

 UFZ M<^8EFD  ^+E Q E<A1^+E<A�]�M<^+N"D�Y+D  D K A�^ Q G�A/� , L�Q ^<^ Z DFE L M8E<X  L M R D�G Q G1^+G1D"M  UFR8Q A Z D�V�M+I1^8E U A1M  V U _.-"_ L D U G1M U D�I  ^<A1^8EFM Z H  
^
 2 C�M+NFE L D Z�Q Y8G�A�E<G1H Z  K DFC�M Z  

^ U M8EFD U D�I  U DFC�G�H , 
EFD

 K DFC�_"]�A�EF^��  K�L A�G W A K A Q C�X<G1D  A�G Q �  N Q8L E<A�G Q . 
 E Q+W A1D�G Q8L G1HJM  ^<D"^8EFD���G�A/�
 
V U _.-"_ L D U G1M U D�I  ^+A1^8EFM Z H  

D K A1^+H U�Q 	eEF^��  U DFC�G1D U H Z A  [ _�G�N W A/� Z A  (
^<D T ^8E U M+G�G�H Z A  [ _�G�N W A/� Z A , ϕ0i), 

� U C.�0	�5�A Z A1^��  L M��'M+G�A1M Z  
_ L�Q+U G1M+G�A/�  �vL M+V�A�G�Y+M L�Q :  

 

00
0 ϕϕ Η=

dt

d
i � , 

 ���	�  ΗΗΗΗ0 – 
�� ��
	��� 
 
  ��� ��
����	�  � ��� 
�������� � �	��
��  � � � � � ��! . " 
��  � � 
��  #����	$�% �	�  
ϕ0i � � 
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�( )*�  ��� & 
 � �	) : ΗΗΗΗ0ϕ0i = Eiϕ0i, 
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 � ��+ �	� ! ���'� � ��(  
 �  � 
 
 � � � 
 &	, �-
 � 
 , �-
  
 ��� � � $�
 � 
 � 
  ��&�(  � � ��.  � 
 
 � � � �  ��� � + � � ��( . 
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. 1. � �����	�
�����
 
���	�	
���
	�����������

 � ������������
	������� �
 
����������!����"!

 
� � ��#$��%�� � ��
 � ��&  

�	������
	�'

 �  ( �$��
  � � 
���� � ��&  � �$����) . (a) – 

��� � ���	���
������*
 
���	�	
��$
	�����������

 
���

 � %�
	�'
	���
 ( ������
  � �+�$,.-�
	���"!

 � ��������������,0/1
	���
 

�"������-�
	���"!
; (b) – 

��� � �������
������*
 

�'�	���	���'����*	����&
 

���	�	
���
	�����������
 � ������������
	������� �

 
����������!����"!

 
���

 2 ��
�%������  
� � 
���� � �$� �  

��� ( ����*+�+� . 3 ( ����41��)5

 
�+%�� � )5


 – ������
�%�
	�"������!
 
�������	�'�����

, ( ����������%���)5

 
�+%�� � )5


 – 
��
	������
�%�
	�"������!

 
�������	�'�����
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 6 
87�� �'��� �	�	! �  #����	$�% �	�  � � 
 �'&	��� � 
 
�(�) �  �	� & 
 � ��)  
 
�� 
��-
 
 � ��
 
 � $ � , � . � .:  

 9
=10

*
0 dqiiϕϕ       �        : = 00

*
0 dqkiϕϕ  

 
( ; �	� � ,  q – � � 7�
 
  � 
 
�� ��
	� �-� �'��� �	�-! .  $�
�
 
���� � ��� ). <=7�! +	�-
  �  � 
 & �-
 � 
��  #����-$�% �	�  
� �	�'��� � (  � ! �	��&��	�',  $�
�
 
���� � ��� �	� )  + � � � , , ϕ0i(q), �  7�! � ��
 
  
���% ��&�&��	
 � ) � � �  �'
	� � � �	�-
��  ���-
?> ��� ��&	, , � . � .: 
 @

tiE

ii

i

eq)(00 ϕϕ =  . 
 

" 
	��� �-
 &	�����'��� � ( , + � 
  � �  � � � � � ���  �	� �-� �'� � ���  � ����� 
 ����(  � 
 & � � , 
	� ��
�� � �-��� ��(  
� ��
	��. 
 � �  � � > � �  �'
�� � 
 ( � ��( � �  «1» �  «2»: 

 



  

)()()( 00 cceeet tititi +Ε=+Ε=Ε −− ωωω , 
 ���	�  Ε – � � � 
�( > � �	�-
�� � ,  � &	� $ ��
	� + � ��$�
 � 
  �-
 &�(  � 
 & �	! , �  � 787 
	��� �-��� � 
	�  «��� » 


���� � + �'���  $�
���� &	� $����-
  �'
�� 
�( > � �	�-! �  + &	� � . ( < � � � � � �-�  �-
 &�(  + ��
	� �  $�
���� &	� $����	� )  � ��� &���� � � �  ���	� $ ����� �-
  # � � � + � ��$�
����  
�� � � � � ��) : Ε(t) = Ε0cos(ωt), �-
  7�
 &	�'�  � � 
87��-
  ��&�(  � ��� � � ���'� + � ��$ �	.  � 
	� 
87 
	� ��
 ��� � � � ). 
� � & 
 � �-� �  
	� ��
�� � �-� �  (��'&�(���� � (  
	����� �-� �'� 
 : �

/)( 12 EE −=ω . 
6 ��
 
 � 
  � 
 � 
 
�( , � &	� $ ��
 
�� ��� � �	� �-
 �  �-
 &-�  � ��� 
  
	� �'��� ����
��	�����',  $ � $  


�� ��
	��� 
 
 , 
 � � � $�
  ��&�(  � � � � �-� �-� �	! .  &	� � ��
 �	! .  �	��+�$�
 � , $�
 � 
 
 ! �  � ���-
 &	, ��� ) � � (  
� 
��  � � 7 &�)*�	� � �	�  $�
 ����
	� � � �	! .  �'# # � $ � 
 � , � �-
 & � �  � 
�� � � � � � 
  $ &	� �'� � + � ��$�
 �  
� 
�� 7 &�� > � � �-� , �-
�� � 
����  E �  �	� �	�-
��  � & ��+ �'�  � 
 
�� � 
  + � � & 
 . � � � ��&�,'� 
�� �-� �  �	� � . -
� 
 
 � � �'� 
��  � � � � � ��!  �  �-
 &	�  � 
 & �	!  � 
�� 
87 
	��� ���  � �	� : ΗΗΗΗ = ΗΗΗΗ0 + V, ���	�  V = d*Ε(t) – 

�� ��
	��� 
 
  � 
�������� � � ��(  (d = e*r – 
�� ��
	��� 
 
  ��� �-
 &�, �-
 � 
  � 
�� � � � � ).  

" 
  � � 
 
��	�  � 
�������� � � � � , � ��� � � ( � ��(  
 �  �'
	� � � � �  � 
 & �-
 ����(  #����	$�% ��(  
�'
�� � 
 ( � ��(  � � � � � ��!  � 
?> ���  �  � � 
��  � & ��+ �'�  7�! �',  � 
	��� � � ���'&	� � �  �  � �	�	�  &�� � � �-�-
��  
$�
��17 � � � % �	�  �'
87�� �'��� �-�	! .  # ���	$�% � �  � ��� 
���� ��� � �	�-
 � 
  ��� � ��&�,�� 
�� �-� � � :  

 

ϕ  = a1ϕ01 + a2ϕ02.       (1), 

 

� 
�� + � �  $�
��'# # � % �-� � � !  a1 
�  a2 

� 
 & > �	!  � � 
 �'&	���'� 
 
�( � ,  ��� & 
 � �	)  �-
 
 � ��
 
 � $ � : 

|a1|
2 + |a2|

2 = 1. 

 
" 
 � � � �'� �-�  � � �  #����	$�% �	)  �  � 
	�'� � � � �-�  � 
	����� � ����
	�  �  �-
 � ! �  ��� � ��&�,�� 
�� �-� �-
�� , � 
?> �-
  �-
�� &	�  � � � & 
?> �	! .  � 
	� 
87 
	� ��
 ��� � � �  �-
 & ��+ �	�',  � � � � � ���  

� 
	�'� � � � � �  ��&�(  $�
��'# # � % �-� � � 
 �  a1 
�

  a2: 
 

�� �
���
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+=

222121
2

212111
1

aVaV
dt

da
i

aVaV
dt

da
i






      (2)   

 ���	�  Vik = � ϕ0k
*Vϕ0i dq. ��
������������

 ����� 
��������   ���  ! �"� � , # �"� ,  ��$�%��'&���%'�  �  
�� � �"�"�  V 
��
 # 
��"��(*) , 

�"�
 V11 

= V22 = 0, 
�
 +   � ��+ �')  #�� $����  

��� ��+ ��
�����)  
��$�� ��, �"$�-  �"�"&���%��   
���
�%'��
�$�����(.
  # &�
���( . /0���

 + ( # ��$�&�
������  Vik, + $�
  ����+ ��$�-'12��
  �"�  + ��
 � 
����  � ���'30���"
�&��  +  + (4� � 30
�����-'5  ��&�-  $���6�$�� + 
�����(*5  + �"&��7� + (*5  8 ����%'9���)  
�
 
��&�-

  �"&�-  � �'3.���  + (*��
�$����  
� �   �'�  � � � % �  �����"
�:;� � & � . < 5   ����� �;+ 
���
�����-  6"�������  � � 
����  + ��� :

tie )( 12ωω ±±
, 
:���


 ω12 = (E2 - E1)/ = .  >
 
��$�&�� + ��-'5  ��
 � �'� � ��$ �  (ω12 = ω), # &�
���(  

$
 (ω12 + ω), 

��$�9���&�&������ , 12��
  � �  � + �')����')  #�� $��"�'�"
 , ��$���
�����- , �"$�- , �  
��$�� ��, �"$�-  �'�"&��"%��  ��
  ����+ ��$�-'12��
  �"�  + ��
 � 
����  

� ���'3.���"
�&��  tie )( 12ωω −± . ? �':�� � , �����"
�:;������� +'� ����
   �  %����"������� � � ���  
� � 
�� :  

 



  

V12 = V21 = 
�
ϕ02(q)*dΕ0 ϕ01(q)dq = Ε0

�
ϕ02(q)*d ϕ01(q) dq = d12 Ε0, 

 :���

 d12 – ! &�
�%"����� # 
�$�%'��)  

���  �"&��"��(*)  � � � 
����   
���
�5��'� �  � 
�3.���  $���$��"�"-'����- � �  1 
�
 2. �4&�-

 
$�&�� #�� -  $������':��':��  ��
 � �'� � ��$ �  $���$��"
 �4�  (2) 

� � 
�
��   ����$��"��
  ��
�� 
�����
 : 
 

�� �
+=
+=

)/sin(

)/cos(

122

121

φ
φ�

�
tVa

tVa
, 

 :���

 φ  - 84��� � +'� -   �  � ��+ % � , �  ��
���
�&�-�
 �4� -  � ��#�� &�����( � �  

��$�&�� + ��- � � . �2� � � # 
�$�%'��)  
$ � (.$�&  

%�� !�848 ��9���
����"� +  a1 
�
 a2   ���'1 
  + $�
�:��   �'��-"�"� , � � $�$ � �"����
 +  $������ � 9�� , , 

%��':�� �   ��$�&�
   ��
�%"� � 1 
�����-  ��
�)�$�� + ��-  ��
�%��'�"�"���':��
 + � �;� ��1 
�����-  $���$��"
 �4�  �'% ����� & � $��  +  $��  
��  � � ��9����'����� �  

$���$��'�"-'�����
, 
�  ��$�( +'� 
 � � �  + (4� � 30
�����
 �  (1). 

/0���
 ! �"� �  

� � ���  � � 
����  +  + ����� , # �"�  8 � � � # 
�$�%'�  
� � 6"& , � � 
 � (.
  + 
�&�� # ����( , 

� � %'��
 , � �� ��� � 
�� , 
% � %  ! ��
���:���-  ��&��  ! &�
�%'����� # 
�$�%���)  

���  �"&�����(.)  � � � 
���� , ��&�-
 
$���$��"
 � ( , 

5 � � � %"�"
���� � ��
 � �')  + �"&���� + �')  8 ����%'9���
�)  ϕ,  �  ��6'1 
 � �   � ��+ ��&��  % +'� ���'� + ��)  � 
�5 � ����%'�  
�  ��
���
�&�- , �"$�-  + (4� � 30
�����- � � : 

 

E 	 
  = 
�
ϕ*ΗΗΗΗ ϕdq  

�
 de = 

�
ϕ*d ϕdq. 

 � $�&��
 + � �;� ��1 
�����
  ��30
  ��
  ��
�)�$�� + ��
�� , �"�  �  
�� � �"�'��� �  ! ��
���:����  

- + &�-�
��"$�-  �  
�� � �"�"�  ΗΗΗΗ0, 
�
  �'��$�� � ��� + % �  8 ����%'9����  ϕ  +   
�� + (.)  

�����"
�:;� � &  
� � 
�� , $  � # 
��"� �  � � $�$ � �"����
�����(*5  + (�� 
  $ + �')�$�� +  $���6�$�� + 
�����(45  + �"&���� + (*5  8 ����%'9���) ,  

  

E 	 
  = | a1|
2 E1 + | a2|

2 E2 

 
 �"�
 
� � � ��#�� 
�� , # �'�  + 
�&�� # ��� �  | ai|

2  ��
���$�� ��+ &�-�
��  $���6��')  
� � $�
�&�
�������$����  i-

�"�':��
 $���$��"�"-'����-

.  /��"&�� # 
�������
  � � %'� �  
30


 
$  ��$���6�� �  + (4� � 30
�����
  ��&�-  ���  �"&������':��  � � � 
���� �  $���$��"
 � (  

6"����
��
 
� � 
��"�  + ��� : 

 

12
/)(

1
*
2

/)(
2

*
1 )( 1221 deaaeaad tEEitEEi

e

��
−−−− +=     (3) 

 � � 3.��(*)  
� �  %�� !�848 ��9���
����"� +  ai 

�
 a2 � ��30
��  6'(4���   ��
���$�� ��+ &�
��  +  + ����
   ���'� ��+ 
���
�����-  + 
�1 
�$�� + 
����7�')  

�
 � ��� � �')  #�� $��"
�) , 

�
.


. ji

jj eaa ψ×= || , # �"�  ��
   ���"��� + �"��
 # ���  ��$�&�� + � ,  
���"� � ����� + %'�  ! �"��5  %�� !�848 ��9���
����'� + . ? �':�� � : 

 

de = | a1 a2| d12 cos(ω12t + ψ)    (3’ ), 

 



  

:���

 + 
�&�� # ��� �  ψ = ψ2 - ψ1 

�  ��
���
�&�-�
��"$�-  ��$�&�� + ��- � �  8 �"� � ����� +'� ����-  $��  
��  � � ��9��7�'�����':��  $���$��"�"-'����- . ? � %'� �  
��6"� ��� � � ,  ���'� �;+ 
���
�����
  %�� !�848 ��9���
����'� +  a1 �

 a2 ��� � ��, �  ���  &����������  �  84��� �  ��$�9���&�&�-'9���)  ! &�
�%"����� # 
�$�%��':��  ���  �'&������':��  � � � 
���� � , $����"� + 
��"$�� + � , 1 
�:��   
���
�5��'���  «1 – 2». < �  + (�� 
�� � &���30
������':��  $�&�
�����
�� , # �"� , 
�$�&��  
���

 + %"& , # 
�����-  ! &�
�%'����� �4� :����������':��   �"&�-  n1 = 1, n2 = 0 (φ  = π/2), 
�"�

  ��$�&�
  + %'& ,�# 
�����- :  
 

))
||2

cos(1(
2

1
||)( 122

22 t
V

atn �−==     (4) 

 �
.


. 
� � $�
�&�
�������$����  + � � 6"��3.��
������':��  $���$��"�"-�����-   
������'��� # 
�$�%'�  � 
���-�
��"$�-  + �  + ��
 � 
����  �"�

 0 
���

 1 
$
 #�� $��"�"�"�')   Ω = 2|V12| / = . /��"&�� # 
���� � -  � � %'� �  

��6"� ��� � �  
����� ��� ��% �  � � $�
�&�
�������$����  

� � ����% � &������  �"��&�� -#�� 
��"$�-  �"�
 
� � $�$ � �"����
������')  + (�� 
 ,  �"&�� # 
������')  +  � ��� % � 5   ��
���$�� ��+ &�
�����)  

�
 ��
 ����+ ��$�� � (*5   ���'9�
�$�$ � 5   �':;&��'1 
�����-  �

 
��$  ��$�% � ����-  $ + 
�� �  � + ��5������ + ��
 + ��)  $���$��"
 � �') , �  � � 
������ : 

1. 
> � 
�$��"�   & ��+ ���':��  � � � � $�� � ����-  + �  + ��
 � 
����  

�
 + (*5��'� �  � �  � � $�(*1 
�����
 , � � $�
�&�
�������$����  + � � 6'��3.��
������':��  �'��� + ��-  ��$�9���&�&�������
��

, 
$��'5'� � ��-"-   ��$��'�"-'�����')  ���  &����������  ��$�9���&�&�-'9���)  [

$  &�� �2� � -  %"��� +'� -  � �  ����$ . 1(a)]. 
2. � �  &�������� �  ��$�9���&�&�-'9���)  

��

 ����+ ��$����  �'�  � �� ��-'30
�������$����   �'&�-  $ + 
��"� + ��)  + �"&���(  (

�
.


. 
�"�

 

�


 � �'12����$���� ). � + 
�&�� # 
�����
  � �� ��-'30
�������$��"�   ��� + �'�����  �'�"&��"%��  %  � + 
�&�� # 
���� ,  #�� $��"�'��(  
��$�9���&�&�-'9���)

 Ω. 
3. 

� $�&��
 +   
�� + ��)  � �'��
�&��   ��
���
�&����7��
  � � ��# 
�����
  � � $�
�&�
�������$����  + 
���5���
�:��  �'��� + ��-  $���$�� ��+ &�-�
��  1/2, 

�'�
 � ��
�$��  + 
�&�� # ��� �  n2 

��
�:;�'&�-"���7�
  ������� �4� 
��  � � ��# 
�����
  1, $����"� + 
��"$�� + � , 1 
�
   �"&����')  

��� + 
���$����  
� � $"
�&�
�������$����  [

$  &�� �2� � -  %'��� +'� -  � �  ����$ . 
1(b)]. /0��� # ��� �  � � ����% � &��"��(*5  � � $�5��'3.��
�����)  � 
�3.���   ��
���$�% ����� ����- � �  

� + ��5  � �'��
�&�
�)  ��� %"& ,�#�� 
��"$�-  +  �"� � , # �"� , +   
�� + �')  � ����
�&��  
��


   ��
��  �"& � : � 
��"$�-  $��"5'� � ��
�����
  84��� � + (*5  $����"�"��� � 
�����)  � 
�3.���  + �"&����')  
�
 
$���$��"�"-'����
 �  

� + ��5������ + ��
 + �')  
$���$��"
 � ( . � $�&��

 
30


 84��� � + (.
  $����"�"��� � 
�����-  ��
  � � ��� � ��, �"$�- , �"�   � + 
���
�����
  � + ��5������ + ��
 + ��)  $���$��"
 � (  +  ��
 � �'� � ��$���� �   �"&�
  � � � &��':�� # ���  %��"&�
"6 � ����- �  
� + ��5  

$ + - ��� ����(.5  %"& � $�$�� # 
�$�%'��5  ��$�9���&�&�-'�"�"��� + , +  %��"�"�"��(45
 ! ��
���:���-  %��"&�
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 E2=�.�5  /2-�:�>+(�* , ;+.�=�B  0�( 3 )+(2B  
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9�:�;�: $ .�9�,�*�9�(2B  / & /2=�*�5�(  *�4A*  /�.�; $ (�,
B�*2=  0
.�G�* $ *�,
=�,�.  .�/�H & -�- &
$ :�?@4 &+1  ) & '�.�-
8�,�< 1  
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$ ( C 6�*�G�(2?@=�/2B , &  
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9�:�;�: $ .�9�,�*�9�. 1  / & /2=�*�5F< .  p
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/ & /2=�*�5  (�,�/�(�576�-�B , ;
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9�( $
& (�,
=�.�9  =�(�0
.�G�.  9�.�/�/2=�(�,�.�9�-+*�, & B  $ *�(2- &+C :
*�=�/2B  9  E K�K *�0�=�*  �

��	 ��� �!�����  � � � . 
� .�=�.�,+,�.�*  E�;
.  9�. C , & 0�(�*2=  ' $+&  ,�(�6�-
?@)+*�, &�&  >+*2=�< $ *�;�9�.�-
,�.�9�.�G�.  /�5�*��A*�, & B  ,�(  

,�*�.�)
,�. $ .�)
,�.  : � &
$ *�,�,�.�5  (�,�/�(�576�-+*  )
9�:�;�: $ .�9�,�*�9�<7;  / & /2=�*�5 . �70�/�'�* $
& 5�*�,+=�<  
5�.�Gn:�=  ' $ . &+C 9�.�) & =�8�/2B  &  9  )
9�:�; & 5F'+:�-+8�/�,�.�5 , 

&
 9  = $ *�; & 5F'+:�-+8�/�,�.�5  

$ * 3%& 5�(�; . I &�3 *  
)�-�B  ' $ .�/2=�.�=�<  6�:�)+*2=  $ (�/�/�5�.�= $ *�,  =�.�-+8�0
.  )
9�:�; & 5F'+:�-
8�/�,�< 1  $ * 3%& 5 . 
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 :�>+*�=�.�5  

/�.�)+* $
3 (�, & B  ' $ *�)
<7)�:�4A*�G�.  $ ( C )+*2-+( , '�* $ *�,�*�/�*�, & *  '�.�-
:�>+*�,+,�<7;  C (�0�.�,�.�5�* $ ,�.�/2=�* 1  
,�(  = $ *�; & 5F'+:�-
8�/�,�< 1  $ * 3%& 5  ,�*  /�.�/�=�(�9�-�B�*2=  6�.�-
8��A.�G�.  = $ :�)+( . #%$
&  .�' & /�(�, &�&  
' $ .�H�*�/�/�(  K . $ 5 &
$ .�9�(�, & B  K .�=�.�,+,�.�G�.  E�;+(  ,�*�.�)
,�. $ .�)
,�.  : � &
$ *�,+,+< 1  (�,�/�(�576�-
8 , 
/�.�/2=�.�B�4 &+1  &+C  6�.�-
8��A.�G�.  > & /2-+(  )
9�:�;�: $ .�9�,�*�9�<7;  / & /2=�*�5 , :�)+.
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9�:�;�: $ .�9�,�*�9�<�*  / & /2=�*�5F<  '�.�-
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$ * C .�,�(�,�/�,�.�G�.  '�* $ *�;+.�)+( . 

79�(  /�9�*2=�.�9�<7;  '+:�>
0�(  K . $ 5 &+$ :�?@=  9  0�( 3 )+.�5  
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 '�.�)+(�,�/�(�576�-+* 1  $ *��A*2=�0�:  

,�(�/�*2-+*�,+,�.�/2=�* 1 , 9 C ( & 57.�)+* 1 /2=�9�:�B  /  0�.�=�. $ . 1 , 9�=�. $ . 1  '+:�>+.�0  /�. C )+(�/2=  '�.�-�B $
&+C (�H & ?  
= $ *2=�8�*�G�.  '�. $ B�)
0�( , '�. $ . 3 )+(2?@4�:�?  0�.�G�* $ *�,
=�,�.�*  &+C -
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>+*2=�< $ *�;
9�.�-
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<7)
:�4A*�5  
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� ,+=�*�,�/ & 9�,�.�/2=�8  0�.�G�* $ *�,+=�,�.�G�.  &+C -
:�>+*�, & B  9�/�*�G�.  (�,�/�(�576�-�B  6�:�)+*2=  ' $
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,+:  '�.�-�B $
&+C (�H &+&  '�* $ 9�.�G�.  '�. $ B�)
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,+<  
&
 9�.�-
,+<  '�.�-�B $
&�C (�H &+&  9  

5�.�5�*�,
=  ' $
& ;
.�)+(  9�=�. $ .�G�.  '+:�>
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 k(3) = 2k2 – k1 = -3k 
&
 k(3)

’ = k1.  
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. 5. P  Q�R�S�T M S�R�U2VXW M�Y  
OXM�Z W�V\[�V  h�U i2c M T�jki [�� O W�R Z R  � cdV . � ^\S�a�T M  j�S f T�Rli Z R�[��nW M m2VXT M  

i O [�R�U2W�R  j�R�m2V � VXW�a  j�^\S M R�h�a  S�^Xe7^`_ m M  W�V O ^\[�^XW�W�R O _ ^��  U  j�R�h�VXW O VXT��2[ f c  “a”  
M
 “b” . 
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0�(�;  x = x0b &

 x = 0: ∆φ1 = k x0b = ∆ω t12/2; 
2. ��( C ,�.�/2=�8  K ( C  '�.�-�B $
&+C (�H &+1  = $ *2=�8�*�G�.  '�. $ B�)
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∆φba(t) = ∆φ1 + ∆φ2 +∆φ3 = ∆ω( t – t2) - ∆ω t12, 
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0�.�G�* $ *�,
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.6. 

� S�^XT�^XW�W�a�^  h M V Z S�VXT�T�a  Q�R�S�T M S�R�U2V\W Mdf  OXM�Z W�V\[�V  � cdV . (a) – 
M T�jdi [�� O a  � [�^Xmb_bS�R�T�V Z W M _ W�R Z R  M � [li ]�^XW Mdf ; (b) – 

M T�jkil[�� O a  j�R�[ f S M�� V�� M�M  j�^\S�UnR Z R  j�R�S f h�m2V  
(
O j�[�R�e7W�a�^  mnS M Una�^  – h�[ f  U O ^ Z R  VXW O VXT��2[ f , jdilW�m _ M S  – h�[ f  S�^ � R�W�VXW O W�R Z R  j�R�h�VXW O VXT��2[ f ); 

(c) – m M W�^`_ M m2V  S�^Xe7^`_ m M  W�V O ^\[�^XW�W�R O _ M , (d) – 
M T+jlil[�� O  � cdV . 

 
 

�-�B  9�=�. $ .�G�.  ,�(�' $ (�9�-+*�, & B  >+*�=�< $ *�;
9�.�-
,�.�9�.�G�.  /�5�*��A*�, & B , k3
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